3m= 3O dm

om7dm=_ AF dm

2m7.dm= 2'4} N

3km= 3000 m 23245m=23 km 245 m

3km235m= AL m 23 245 m = _2.3, 245" km

3km 235 m = 3’235 km 245m=__ O, 245  km

2dn= 4 n L 21407cm=244 m O dm_F cm

7dm= 0 m £ dm 21407 cm = 2440rzdm

7dm=  O0F m 21407 cm= 244,0& m

5m224dm2= 924 dm? 5m?2 24 dm? = ° %4 g’
m2

7hada=__ F02 2 iaiss.. = DA
1452 m?2 = 0 ha_____/ﬂl a 52 m?2 1452 m2 = /’&f62- a
1452 m2 = ___014452, ha ShEs 0103___, A

134 cm2=_ 0 04134 - m? 26 dm2 = Of 26 m?2

7cmé= 01'0 OOF  m? 7 m? 30m2___?00' (s dm?

OPOZORIA BI SE WA DVE MM Vv RESITWAH 2A C. TEDEN (3.URA) :
Z.NMALOGA ! 270 em® 3.NALOGA : G dw®




